Taylor

O y'=-y+x+2 y'=f=-y+x+2
Ey(O)=2D Vo =2 f'=—ly'+l=-1(-y+x+2)+1=y-x -1
0<x<03 O h=0,1 f'=y'=-1=(-y+x+2)-1=-y+x+1

fy =£(X,¥9) ==y +%,+20 £(0,2)=-2+0+2=0
f, =1'(xy,Y,) =y, =X, —10 £,(0,2)=2-0-1=1
f, =1 (X0,y0) ==y, +X, +10 £,(0,2) =—2+0+1=~1

x,=0,1

2 3 2 3
Yi =Y +hi, +%f(; +1;—,f(;' =2+(0) (0)+ (0’21,) M+ (0;1,) (-1) =2,00483

f =f(x,,y,) = -y, +x, +2 0 £(0,1;2,00483) = —2,00483 +0,1 +2 = 0,09517
£ =f'(x,,y,) =y, —x, =10 f,(0,]; 2,00483) = 2,00483 - 0,1 -1 = 0,90483
£ =f"(x,,y,) =y, +x, +10 £(0,1; 2,00483) = 2,00483 +0,1 +1 = —0,90483

x, =0,2

h* . h’ .. (0
y, =y, thf + ?fl + ;fl =2,00483 +(0,1) (0,09517) +

2
’1') (0,90483) +

3
: (0’1') (-0,90483) = 2,01872

3
£, =f(x,,y,) = -y, +x, +2 0 £(0,2;2,01872) =-2,01872+0,2+2 =0,18128
£ =f'(x,,y,) =y, —x, 10 £/(0,2;2,01872) =2,01872-0,2~1=0,81872

£ =f"(x,,y,) ==y, +x, +10 £(0,2;2,01872) = =2,01872+0,2 +1 = —0,81872

x; =03
h* . h’ . (0,1)* (0,1)°
y, =y, +hf, +?f2 +?f2 =2,01872+(0,1) (0,18128) +T(0,81872) +T(—0,81872) =2,04081
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